
Revision 1: 11.11.2019

Aആആ೸ഀ ೵೿ഌ Iഁ ആഇഅഈ೶ഇ೼ംഁ
Montageanleitung • Instructions de montage

page/Seite 1

16D
4051N

Mazda CX-5; Modell 2019
Side protection bar oval
Flankenschutzrohr oval
Protection latérale rondes (ovale) 

www.antec-online.de

article no.:
16D4051N (S) inox
16D5051N      black steel



Revision 1: 11.11.2019
page / Seite  2

12E5031

10V5031

77

66

M10

M10

M8(A2):
21,4 Nm
M8:
25 Nm
M10:
50 Nm

13
17

16D4051.1 / 16D5051.1
16D4051.2 / 16D5051.2

2x

M8x45; DIN 933 Zn 6x

M8x25; DIN 933 A2 4x

M8; DIN 934 Zn 6x

M10; DIN 934 Zn 6x

Ø 8,4; DIN 125 Zn 6x

Ø 10,5; DIN 9021 Zn 6x

     

11

16D5072_R / 16D5073_L
2x

22

mounting kit: 16D9051N

TÜV

16D5067
33 2x

005498
88 4x

005497
99 6x

Ø9 A2 Ø9 

article no.:
16D4051N (S) inox
16D5051N      black steel

16D5165
44 2x

16D5194
55 4x 4x

2x



product-number:
15B 4151 stainless steel

Step 1 Step 2

Step 4Step 3

Step 5 Step 6

Revision 1: 3.11.2010
page / Seite  3

Revision 1: 11.11.2019

page / Seite  3

Step 1

100
60

175

120
62

50

Step 3Step 2

2x2x

2x2x

44

22

22

66
4x

2x

2x

M10
Ø10,5 DIN9021

000

Step 5Step 4

Step 6
99

4x4x
2x2x

2x2x

2x2x

2x2x

M8x45

Ø8,4 DIN125
M8MMMMM8888



product-number:
15B 4151 stainless steel

Step 1 Step 2

Step 4Step 3

Step 5 Step 6

Revision 1: 3.11.2010
page / Seite  4

Revision 1: 11.11.2019
page / Seite  4

Revision 1: 11.11.2019

11

Step 10

Step 11

Step 9

55
55

4x

4x

4x
M8 (A2):
21,4 Nm
M8:
25 Nm
M10 :
50 Nm

Step 7

777

33

2x2x

2x2x
Step 8

Ø10,5 DIN9021
                   M10

2x2x

2x2x

2x2x

M8x45
99

4x4x

Ø8,4 DIN125
M8

Step 12 Step 13

2x2x

88 4x

M8x25 A2


